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2.1) A matrix, 4, that is in echelon form, and dim ((RowA)*) =2, dim ((Col 4)*) =1 {) oS \\\(\ L\/A (98

2.3) A subspace S, of R%, that satisfies dim(S) = dim(S*) =3
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2. If possible, give an example of the following.
2.1) A matrix, A, that is in echelon form, and dim ((RowA)*) = 2, dim ((CulA)l) =1
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clc

format bank

%% rental car - long term analysis
A=[.8 .1 .2 ; .2 .6 .3 ; 0 .3 .5]
k=10

A"k

%% google PageRank

PO=[0 1/2 1/2 0 1/5 ;
1/2 0 1/2 1/2 1/5 ;
0 /20 0 1/5 ;

/20 0

0 0o o0 1/21/5 1;
KO=(1/5)*[1 1111 ;

11111 ;

1111 1;

11111 ;

1111 1];
G0=.85%P0+.15%K0;

P1=[0 0 1 0 1/5
1/3 0 0 1/2 1/5 ;
1/3 0 0 1/2 1/5 ;
1/3 1/2 0 0 1/5
01/2 0 0 1/5];
G1=.85*P1+.15%K0;
P2=[0 1/2 0 1/70 0 1/7
00 1/31/71/20 1/7
0o 1/70 1/3 1/7
1/31/70 0 1/7
/20 1/70 o0 1/7;
1/3 1/7 1/2 1/3 1/7;
0 1/7 0 1/31/71;
111 1;

i
i
i
i

[« IS

*
k=20;
test=[1 111111 ] *G2;
format short
for i=1:k

i

Gl17i;
end
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